Poxin =
B NER
1. LEA4
T¥H4 FLO /N E AR K G Al s TR
THEHA Foeg L SRk LT N A i S
2. TENE
1)  FHEIT4 Ok L) N EE S H AT )14 2R
2) X LM T M T3
3) L £ 467 A 14 H A TH 3H21H
ES 4F0 84 6H30H
4) T EAE

ESR o3 E IR LWk 3



HNEIRE

TH4 | AONINEHRARKHE A E T3

T XSy « TfE - FER A B & & B H a1l )l 7
I ERE = 1 104, 592, 802
LT = 1 5, 594, 968
PEHI T m3 150 46,905 | YEH! 1 =
T A7 iy PR REEEE 5, 000m3AR ;
I m3 2,400 5,181,271 |B&IA (5E42) B+ 1 =
2. SmA ;
AR (L) B 1 1 =K
2. 5mPL F4. OmART ;
AR (L) B 1 1 =K
4. 0mPA F
el 1 =K
T A7 iy PR RS 5, 000m3AR ;
FREL L
b 1 =K
T CEBll- EAEY L&) ; BRI
B T = 1 366, 792 | VEMIET (L) 870 m2
HREAEE S & SUEHNE
R 2V 1 31, 146, 935
A3y -b T = 1 5,124,000 |7° V¥yAbsEay))—p 112 m
WHiki7" JEME 6lcm &S 50cm ;
FM L 2V 1 25, 605, 032 | JA IR R AR 123 e
1OHM! ARSI RAREE R & 10. bm SiRHFTIA
£ 6.0m ; SRARMEFE T
PN RES i ES 1 e
LOHAY AR ST AR R & 10. 5m S RAR
IIAE 5.9m ; SR BLE T
S4B 124 (50
#i%AK 1 OH ;
TEHRALEL T = 1 417,903 | BLGRE AR i 1 =

AR 1 OH ; BiAA, il L& Te

ESR SRR LWk 3




B N ERE

TH4 | AONINEHRARKHE A E T3

e

TRy - LR - 85 B (i % & .

R T = 1 26, 364, 437

[(=5=wmn = 1 110,180 | ; R4y . MEL, EmEES T

vy =47"wy ) L7 ny ) iR) = 1 15,510, 334 | BLEGFTAESS (FREE) 270 -} 16 n
18-8-40 (B ) 5

ST my )R 906 m2
AHE 150kg/fALL £ $E 2 130mm ;

Bl T K2y 1) =} 111 m
18-8-40 (&) ; Hiffea . BRI ETe

HEA B L v 1 10,735,135 |/NA 1k 6 m3
18-8-40 (B ¥F) ;

/a1 IR AR 8 bia
LOHE! JRMESH AR R & 10.5m SHAARITIA
£ 8.6m ;

FRAA-O) 5 {1 AT
MM 1 OH ;

ST my )R 111 m2
AHE 150kg/fALL £ 2 130mm ;

Keibavp)-p 111 m
18-8-40 (FF) & 30cm =S 100 ¢ m ; FEp
e, iR, B HIARE T

W7 vy 5k 222 m2
t=250 ;

2t

8, 788 | BLIGH A i 1 =
AR 1 OH ; BiAA, il L& Te

HERALEE T

AR [E T Y 1 36, 265, 962

IRE D7 wy) T 2V 1 36, 265, 962 | HIRAR[E 7" vy B 438 1l
RE7 vy) GabFrgei®) 77wy fidE (EHEE
) 4.3t ;

HRIE D7 vy s BT 438 &l
MEFG7 wy) 7wy ) fEBE (GEER) 4.3t 7wyl
A BEHD . BA S Te

-2 - Etrzme TR R




B N ERE

TH4 | AONINEHRARKHE A E T3

THRX Sy « Lif - fEi5 Bz ¥ = & A i a1l % 7
THIZARE 6O 7 ny ) EE i 438 1A
2.5t & 2 5. 5tLA T FHIAA - PEATT ELAE) 2@
0.5kmLL T
HiEME T = 1 2, 575, 083
HEEYEUE L T Y 1 1,560, 868 |2V -ME&EE W HUE L 193 m3
RS B T
WS EAME 7 ®
2t PR
T L T = 1 1,014, 215 | ZRIEM 193 m3
2y )= ()
BTy 193 m3
2y )= b ()
rGan Y 1 2,645, 417
T8 - RS T = 1 410,217 | ; K+ 5 ik - &E - fE
15 1 1T = 1 2,235,200 | ; VG#@E5IE T = > A
EETEE = 1 104, 592, 802
Il R = 1 10, 613, 000
st = 1 3, 334, 000
TE = 1 2,312, 000 | FEEEFRAAR Sy MRAH ST o 16 2 1 =
BIGREWER (FE L) = 1 1, 022, 000
Il (it L) = 1 7,279, 000
Wl T = 1 115, 205, 802

-3 - Etrzme TR R




FNER

TH4 | AONINEHRARKHE A E T3

THXSy - T - fR HOfr ¥ & f # bl N g
B B v 35, 379, 000
TRl = 150, 584, 802
—fRE A% v 24, 465, 198
T fifik& = 175, 050, 000

ESR SRR LWk 3




